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Solved Examples

11f A(1,2,3), B(0,1,2) and C(2, 1, 0) are vertices of a triangle , then
the length of the median through A'is

A5

B.2\/5

C.5

D.10

Answer: A


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HhqGT8yS2VGG

° Watch Video Solution

2. If A(1,2,3),B(4,3,2) and C(5,2,7) are three vertices of a
tetrahedron for which the centroid is (4, 5/2, 5), the fourth vertex is

A. (6,5, 8)

B. (6, 4, 8)

C.(5,4,8)

D. (6, 4, 5)

Answer: B

o Watch Video Solution

3.The points (2,5, — 4), (4,7, — 6), (1,4, — 3) are

A. collinear

B. vertices of a right angled triangle


https://dl.doubtnut.com/l/_HhqGT8yS2VGG
https://dl.doubtnut.com/l/_V4Y8Q1gueI7y
https://dl.doubtnut.com/l/_36TRfQZu19te

C. vertices of an equilateral triangle

D. vertices of an isosceles triangle

Answer: A

° Watch Video Solution

4. The point which divides the line segment the points
(—2,3,5),(1,2,3) in the ratio 2 : 3 externally is
A.(—4/5,13/5,21/5)
B.(13/7,2/7,15/7)
C.(—3/2,1/2,9)

D.(—8,5,9)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_36TRfQZu19te
https://dl.doubtnut.com/l/_QSEAdUbPttVF
https://dl.doubtnut.com/l/_Myjam6zwqPyy

5.A(5,3,2),B( — 1,0, —4),C(1,1, — 2) are collinear , then the ratio
in which B divides AC is

Al:3

B.2:3

C3: —1

D.1:2

Answer: C

o Watch Video Solution

6. If H,GS, | are respectively othercentre centroid , circumcentre and
incentre of a triangle formed by the points (1,2,3), (2,3,1) and (3,1,2) . Then
H+G+S+I=

A (22,2)

B.(4,4,4)


https://dl.doubtnut.com/l/_Myjam6zwqPyy
https://dl.doubtnut.com/l/_FhiKfZeIIqxT

C.(6,6,6)

D. (8,8,8)

Answer: D

o Watch Video Solution

7.The shortest distance between (0, 0, 0) and (2 sint, 2cost, 3t) is :

A4
B.3
C.2

D.1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_FhiKfZeIIqxT
https://dl.doubtnut.com/l/_KMxC3jJ25lKQ

8.If L and M are the feet of the perpendiculars from the point (2,4,5) to

the planes XY and YZ, then distance LM is :
A. /20
B. /29
C.32
D. 44/2

Answer: B

o Watch Video Solution

o. Th i x—2_y+1_z—1 - ¢
. e line s = 5 1 intersects

ry=c, z=0ifc=

A +4/T
B.++/5
C.++/5

the

curve


https://dl.doubtnut.com/l/_oN5FuXjNSxhI
https://dl.doubtnut.com/l/_HiW73gL1O2h2

D.+1

Answer: B

° Watch Video Solution

1. The distance the points (-1,2,-3) ,(5,4,-6) is

Al

B.3

C.6

D.7

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HiW73gL1O2h2
https://dl.doubtnut.com/l/_l3bj7qt2vaFG
https://dl.doubtnut.com/l/_BMEYLTIMMPUt

2.The distance the points (sin«, cos a, 0), (cos @, — sina, 0) is

Al

C.2

D.tan o

Answer: B

° Watch Video Solution

3.The distance between the points (-1,2,3) and P is 13. Then P =

A. (2,6, —9)
B.(—2,6,9)
C.(2,6,9)

D.(—2, —6, —9)


https://dl.doubtnut.com/l/_BMEYLTIMMPUt
https://dl.doubtnut.com/l/_l2J7ovZXur50

Answer: A

° Watch Video Solution

4.The distance between the points (5,-1,7) and (c,5, 1) is 9 then c =

A.8

B.4

Answer: A

° Watch Video Solution

5.The distance of point (7,-8,15) from the x -axis is

A7


https://dl.doubtnut.com/l/_l2J7ovZXur50
https://dl.doubtnut.com/l/_IJuI9zahhpUZ
https://dl.doubtnut.com/l/_8GaOjNEGncnz

B. /34
C. /25

D. /20

Answer: A

° Watch Video Solution

6. The distance of point P (1,2,3) from the coordinate axes are

A. /13, /10, /5
B.1/11, /10, /5
C. /13, /20, /15

D. /23, /10, /5

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8GaOjNEGncnz
https://dl.doubtnut.com/l/_bdos1bTiLQMz
https://dl.doubtnut.com/l/_flhZUytqa6Rt

7.The perimeter of the triangle with vertices at (1, 0,0 ), (0,1,0 ) and (0,0,1)

is :

A3

B.2

C.2+/2
D. 31/2

Answer: D

o Watch Video Solution

8.The points (3,2,4 ),( 54,6 ) , (9,8,-10 )are

A. collinear

B. vertices of a right angled triangle

C. vertices of an equilateral triangle

D. vertices of an isosceles triangle


https://dl.doubtnut.com/l/_flhZUytqa6Rt
https://dl.doubtnut.com/l/_PLy9h22Uc2Du

Answer: A

° Watch Video Solution

9.The points (-2,3,5) (1,2,3) (7,0,-1) are

A. collinear

B. vertices of a right angled triangle

C. vertices of an equilateral triangle

D. vertices of an isosceles triangle

Answer: A

° Watch Video Solution

10. The point collinear with (1,-2 -3 ) and (2, 0,0 ) among the following is

A. (0,4,6)


https://dl.doubtnut.com/l/_PLy9h22Uc2Du
https://dl.doubtnut.com/l/_o0VbRVCYcfwf
https://dl.doubtnut.com/l/_vyrLdpqKSVva

B. (0,-4,-5)

C.(0,-4,-6)

D. (0,-4,6)

Answer: C

° Watch Video Solution

11. The points (1,2,3),(2,3,1), (3,1,2 ) from

A. isosceles triangle

B. equilateral triangle

C.right angled triangle

D. right angled isosceles triangle

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vyrLdpqKSVva
https://dl.doubtnut.com/l/_J9ejV6Ko33kN
https://dl.doubtnut.com/l/_zdEJBcytmhO1

12. The points ( 3,4,5) (2,3,1), (-1,6,1) from

A. equilateral triangle

B. isosceles triangle

C.right angled triangle

D. right angled isosceles triangle

Answer: D

o Watch Video Solution

13. The points (1,1,1) ,(1,2,3 ),(2-1,1) form

A.isosceles triangle

B. equilateral triangle

C.right angled triangle

D. right angled isosceles triangle


https://dl.doubtnut.com/l/_zdEJBcytmhO1
https://dl.doubtnut.com/l/_GISqX66PTBKB

Answer: A

° Watch Video Solution

14. The «centroid of the triangle formed by the points
(1,2,3),(3, —1,5),(4,0, — 3)is

A.right angled triangle

B. isosceles triangle

C. equilateral triangle

D.right angled isosceles triangle

Answer: A

° Watch Video Solution

15.1f (1,2,3 ), (2,3,1 ) are two vertices of an equilateral triangle then its third

vertex is


https://dl.doubtnut.com/l/_GISqX66PTBKB
https://dl.doubtnut.com/l/_sV7PFf2LgVzE
https://dl.doubtnut.com/l/_e3Ky01nmy9Dl

A (3,1,2)
B.(3, —1,2)
c.(-3,1,2)

D.(—3, —1,2)

Answer: A

° Watch Video Solution

16. The coplanar points (3,2,1), (5,6,5),(2,1,2 )(0,-3,-2 ) from a

A. square

B. rectangle

C.rhombus

D. parallelogram

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_e3Ky01nmy9Dl
https://dl.doubtnut.com/l/_mL1ywjnvpdhV

17. The coplanar points (1,2,2 ) (2,1, 0) ,(1,1,3 ),(0,4,5, ) from a

A. parallelogram

B. rectangle

C.square

D. rhombus

Answer: D

o Watch Video Solution

18. The coplanar points (1,2,4 ),(-2,2,1), (2,4,-3 ) ,(5,4,0) form

A. parallelogram

B. square

C.rhombus


https://dl.doubtnut.com/l/_mL1ywjnvpdhV
https://dl.doubtnut.com/l/_ii8peimYOFlP
https://dl.doubtnut.com/l/_ZCKfLHfNV4Ly

D. rectangle

Answer: D

° Watch Video Solution

19. The coplanar points (3,2,5) , (2,1,1),(-1,4,1 ),(0,5,5) form a

A. parallelogram

B. square

C.rhombus

D. rectangle

Answer: B

o Watch Video Solution

20. The midpoint of the line segment joining (2,3,-1), (4,5,3,) is


https://dl.doubtnut.com/l/_ZCKfLHfNV4Ly
https://dl.doubtnut.com/l/_P9KeINZBYCDm
https://dl.doubtnut.com/l/_s8Cfk9LV6G0v

A. (3,4))

B. (4,1,3)

C.(3,4,1)

D. (-4,,3)

Answer: A

° Watch Video Solution

21.1f (2,3,-1), is the midpoint of AB Where A = (-1,5,3 ) then B =

A. (5,1,5)
B. (5,1,-5)
C.(-5,1,5)

D. (5,-1,-5)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_s8Cfk9LV6G0v
https://dl.doubtnut.com/l/_NEM3g8Z2SHsy

22.The points which divides the join of (3,-2,1 ) and (-2,3,11) in the ratio 2 :

3is:

A (114)

B. (1,0,5)

C.(2,3,5)

D. (0,6,-1)

Answer: B

o Watch Video Solution

23. The point which divides the line segment joining the points (1,2,3 ),

(3,21)intheratio3:4is

A. (8/5,1,13/5)

B. (13/7,2/7,15/7)


https://dl.doubtnut.com/l/_NEM3g8Z2SHsy
https://dl.doubtnut.com/l/_0CIruVDksScJ
https://dl.doubtnut.com/l/_4z8wKxbohYUt

C.(-3/2,1/2,9)

D. (4,7,6)

Answer: B

° Watch Video Solution

24. The point which divides the line segment joining the points (1,-1,2 ) ,

(2,3,7 )intheratio-2:3is

A. (-1,9,-8)

B. (13/7,2/7,15/7)

C.(-3/2,1/2,9)

D. (4,7,6)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4z8wKxbohYUt
https://dl.doubtnut.com/l/_C3nlp9TKEVS4
https://dl.doubtnut.com/l/_Q1h0iWsbCTCS

25.The coordinates of the point which divides the line joining the points

(2,34 ) and (34,7 ) in the ratio : 2 :4 externally is

A. (10,1,1)

B. (1,10,1)

C. (10,-10,10)

D. (1,1,10)

Answer: B

o Watch Video Solution

26.If the line joining A (1,3, 4 )and B is divided by the point (-2, 3,5 )in the
ratio 1:3, then B is

A (—11,3, —8)

B.( — 8,12, 20)

C.(13,6, — 13)


https://dl.doubtnut.com/l/_Q1h0iWsbCTCS
https://dl.doubtnut.com/l/_xgwKOxobwjcD

D.( — 11, 3, 8)

Answer: D

° Watch Video Solution

27.The points of trisection of line segment joining (2,-3,5) ,(3,1,-2) are

A.(8/3, —1/3,1/3),(7/3, —5/3,8/3)

B.(7/3,4,13/3),(8/3,3,14/3)

C.(—8/3, —1/3,1/3),(7/3, —5/3,8/3)

D.(—7/3,4,13/3),(8/3,3,14/3)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_xgwKOxobwjcD
https://dl.doubtnut.com/l/_vRil7wDyXzp6

28. The ratio in which (5, 4,-6 ) divides the line segment joining (3,2,4 ) ,

(9,8,10) is

A2:1

B.1:2

C.2:3

D.3:2

Answer: B

o Watch Video Solution

29.1f A (3,24 ), B (54 -6 ),C (9,8,10 )are collinear then the ratio in which B

divides AC is

Al:2

B.2:3

C.2:1


https://dl.doubtnut.com/l/_k1GwWLdkKxRb
https://dl.doubtnut.com/l/_0gPgW1V8mGeZ

D.1:1

Answer: A

° Watch Video Solution

30. If X-coordinate of a point P on the line joining the points Q (2,2,1 ) and

R(5,1,-2 ) is 4, then the z-coordinate of P is

C.1

D. 2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_0gPgW1V8mGeZ
https://dl.doubtnut.com/l/_FnOoaPo0UQbs

31. The ratio in which xy- plane divides the line segment joining (-2,3,1 ) (

3,5,2,) is

Al: —2

B.2:1

C.2:3

D.3:2

Answer: A

° Watch Video Solution

32. The ratio in which yz-plane divides the line segment joining (3,4,5 )

(2,-3,1)is

Al:2

B.2:1

C.1:3


https://dl.doubtnut.com/l/_ro1kPq70eTSe
https://dl.doubtnut.com/l/_HpSBlnzBJcPf

D.3: — 2

Answer: D

° Watch Video Solution

33. The ratio in which yz-plane divides the line segment joining (-3,4,2 ),

(2,1,3)is

B.3:2
C.—2:3

D.1:4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HpSBlnzBJcPf
https://dl.doubtnut.com/l/_0Ku0hoZsoEdk

34.X0Z plane divides the join of (2,3,1) and (6,7,1 ) in the ratio

A3:7

B.2:7

C.—3:7

D.—2:7

Answer: C

o Watch Video Solution

35. The ratio in which the line segment joining the points
A(—2,3,7), B(6, — 1, 2) is divided by the yz - plane is

Al:3

B.5:4

C.5: —4

D.3:1


https://dl.doubtnut.com/l/_s9s5LkJd53ol
https://dl.doubtnut.com/l/_ryJWnZdtFOXW

Answer: A

° Watch Video Solution

36.The line segment joining points A (2,4,5) , B(3,5,-4) intersects xy -plane

at the point

A. (0,19/5,4/5)

B. (0,4,5)

C.(23/9,41/9,0)

D. (0,0,0)

Answer: C

° Watch Video Solution

37. The line joining the points (2,3,4) and (4,10,7) intersects the line

joining (2,1,5) and (4,30,17) . Then the coordinates of the point of


https://dl.doubtnut.com/l/_ryJWnZdtFOXW
https://dl.doubtnut.com/l/_73vc6JDKn9EI
https://dl.doubtnut.com/l/_ZAa9M5a1vQv7

intersection are

A. (6/4,-8/9,33/9)

B. (16/9,20/9,33/9)

C.(16/4,38/9,13/9)

D. (0,2,3)

Answer: B

o View Text Solution

38. The line passing through the points (5,1,a) and (3,b,1) cross the yz -

plane at the point (0,17/2,-13/2) .Then

Aa=4b=6
B.a=6,b=14
Ca=8b=2


https://dl.doubtnut.com/l/_ZAa9M5a1vQv7
https://dl.doubtnut.com/l/_pEfnd3JFre3a

Answer: B

° Watch Video Solution

39. The harmonic conjugate of
(3, —2,2),(6, —17, —4)is

A (18/5, —5,4/5)

B. (11,-16,2)

C.(1/2/3,/4)

D. (0,0,0)

Answer: A

(2,3,4)

w.r.t

the

points

° Watch Video Solution

40. Find the fourth vertex of the parallelogram whose consecutive

vertices are (2,4, — 1), (3,6, —1) and (4,5,1).


https://dl.doubtnut.com/l/_pEfnd3JFre3a
https://dl.doubtnut.com/l/_AYX3UOpoFNWH
https://dl.doubtnut.com/l/_AhmPHCgSpIGE

A(3,3))
B.(4, — 2, —4)
C.(2,2/3,2)

D. (5,0,1)

Answer: A

o Watch Video Solution

41. The fourth vertex of the square whose consecutive vertices are
(4,5,1), (2,4, —1),(3,6, —3)is

A (-4,2,4)

B. (4,-2,-4)

C.(5,7, —1)

D. (5,0,1)

Answer: C



https://dl.doubtnut.com/l/_AhmPHCgSpIGE
https://dl.doubtnut.com/l/_GxOHyWXhxPCf

| ° Watch Video Solution

42. The centroid of the triangle
(2,3, —1),(5,6,3),(2, —3,1)is

A (2,13)

B. (-2,1,3)

C.(2],3)

D. (3,2,1)

Answer: D

formed

by

the

points

° Watch Video Solution

43. If the origin is the centroid of the triangle for

(2, —3,5),( — 1,2, — 2) are two vertices then the third vertex is

A. (1,2,9)

which


https://dl.doubtnut.com/l/_GxOHyWXhxPCf
https://dl.doubtnut.com/l/_PdIyQI4eIDpW
https://dl.doubtnut.com/l/_U0WIzXsjvH5B

B.(—1,1, —3)
C(-1, -2, -9

D.(1, —2, —9)

Answer: B

° Watch Video Solution

44.1f (2,1,1) is the centroid of the triangle for which (3,2,-1) ,(2,-2,5) are two

vertices then the third vertex is

A.(1,2,9)

B. (10,4,9)

C.(1,-5,-2)

D. (1,3,-1)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_U0WIzXsjvH5B
https://dl.doubtnut.com/l/_mX0T8SkomPA1

45, If  the centroid of  the triangle formed by
(a,1,3),(—2,b, —5) and (4,7, ¢) is the origin then (a,b,c) =

A.(2,8,2)

B. (2,8,-2)

C.(-2,-8,2)

D. (2,-8,2)

Answer: C

o Watch Video Solution

46.The centroid of the tetrahedron formed by the points (3,2,5) (-3,8,-5) ,

(-3,2)1) (-14,3) is

A. (0,1,5/2)

B.(5/4 ,3/4,7/4)


https://dl.doubtnut.com/l/_mX0T8SkomPA1
https://dl.doubtnut.com/l/_M2JVehBLO6tg
https://dl.doubtnut.com/l/_lg98v1B39PnU

C.(—1,4, —1/2)

D. (5,-1,10)

Answer: C

° Watch Video Solution

47.If the origin is the centroid of the tetrahedron for which (2,-1,3) ,(-1,3,1),
(3,4,-2) are three vertices then the fourth vertex is

A. (4,6,2)

B.(—4, —6, —2)

C.(—4,6, —2)

D. (4,6,2)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_lg98v1B39PnU
https://dl.doubtnut.com/l/_xstaqzbojChh
https://dl.doubtnut.com/l/_IuvlwogVSXj5

48. If (2,34) is the «centroid of the tetrahedron for which
(2,3, —1),(3,0, —2),( — 1, 4,3) are three vertices then fourth vertex
is

A. (4,5,16)

B. (3,2,4)

C.(2,3/4)

D. (2,2,12)

Answer: A

o Watch Video Solution

49. The centroid of the tetrahedron ABCD divides the line joining the

vertex A to the centroid of AABC in the ratio

A1l:2

B.2:1


https://dl.doubtnut.com/l/_IuvlwogVSXj5
https://dl.doubtnut.com/l/_Wd2ywXTnXY0p

C.1:3

D.3:1

Answer: D

° View Text Solution

50. The «centroid of the triangle formed by the points
(1,2,3),(3, —1,5),(4,0, —3)is

A (2,1/2,4)

B. (7/2,-1/2,1)

C.(5//2,,0)

D. (8/3,1/3,5/3)

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Wd2ywXTnXY0p
https://dl.doubtnut.com/l/_7t1TFXeDbD2v
https://dl.doubtnut.com/l/_t9Ro0WejqLa1

51. The centroid of the triangle formed by the points
(1,2,3),(2,3,1),(3,1,2) is

A (2,2,2)

B. (1,1,1)

C.(2,:2))

D. (-1,2,2)

Answer: A

° Watch Video Solution

52. The centroid of the triangle formed by the points

(2, —1,1),(1, — 3, —5),(3, —4, —4)is

o Watch Video Solution



https://dl.doubtnut.com/l/_t9Ro0WejqLa1
https://dl.doubtnut.com/l/_WLcUOM8OmKeZ

53. The centroid of the triangle

(2,1,5),(3,2,3), (4,0,4) is

A. (2]1,5)

B.(3,2,3)

C.(4,04)

D. (3,1,4)

Answer: D

formed

by

the

points

o Watch Video Solution

54. If the orthocentre and the circucentre of are (-3,5,2) ,(6,2,5) then its

centroid is

A. (3,3,4)

B.(3/2,7/2,7/2)

C.(-9/2,7/2,3/2)


https://dl.doubtnut.com/l/_8ka1ctNCHHDX
https://dl.doubtnut.com/l/_ykj5onbN5ifQ

D. (9/2,:3/2,3/2)

Answer: A

° Watch Video Solution

55. If the orthocentre and the circucentre of a triangle are
(—3,5,1), (3,3, — 1) then the centroid is

A. (111/3,-1/3)

B. (0,2,0)

C.(6,2,-2)

D. (-6,2,2)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ykj5onbN5ifQ
https://dl.doubtnut.com/l/_HZE0ArhNt1r0

56.The incentre of the triangle formed by (0,0,0),(3,0,0),(0,4,0) is

A. (1,,0)

B. (1,0,1)

C.(0,,1)

D. (1,1,1)

Answer: A

o Watch Video Solution

5. A : If (2,1, —3),(—2,3,4),(1,2,2) are the midpoints of
BC,CA, ABof AABCthen A = ( — 3,4,9)

R : If (ai, B1,71), (a2, B2, ¥2), (a3, B3,3) are the midpoints of the

sides BC,CA, AB of AABC then

A= (as+as—o01,Ps+Bs—B1,72+ 73— M)

A.(0,5/2,5/3)


https://dl.doubtnut.com/l/_i3c4GDwsBHl2
https://dl.doubtnut.com/l/_FTRuyKb8xIBG

B. (5,0,-5)

C.(-1,2,-1)

D. (1,6,3)

Answer: A

° Watch Video Solution

58. The points DEF are the

BC,CA,AB of AABC respectively.

midpoints

of

the

|fA:(—2,3,4),D:(1, —4,2)’E:(—572,3)then|:=

A. (-8,9,1)

B. (4,-3,3)

C. (-2,-5,-5)

D. (-6,1,3)

Answer: B

sides

[ -


https://dl.doubtnut.com/l/_FTRuyKb8xIBG
https://dl.doubtnut.com/l/_GZj8pSXrCz2J

| 0 Watch Video Solution

59. D(2, 1, 0), E(2,0,0), F(0, 1,0) are midpoints of the sides BC,CAAB

of AABC respectively . The, the centroid of AABcis

Answer: B

° Watch Video Solution

60. In AABC the mid-point of the sides AB,BC and CA are respectively

(10.0)(0.m0) and (0.0.) . Th AB? + BC? + CA?
,J,0),\0,m,0) an ,0,Nn) . en =
24+ m? +n?

A2


https://dl.doubtnut.com/l/_GZj8pSXrCz2J
https://dl.doubtnut.com/l/_ugjzzlu5W0mb
https://dl.doubtnut.com/l/_yCJiv5Has8wU

B.4

C.8

D.16

Answer: C

° Watch Video Solution

61. If the extremities of a diagonal of square are (1, — 2, 3), (2, — 3,5)

then the length of its side is
A. /6
B.1/3
C.\/5
D. /7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_yCJiv5Has8wU
https://dl.doubtnut.com/l/_3j73aEDh3sO4

62.If (5,7,10),(1,9,6) are the extremities of the hypotenuse of a right angled

isosceles

A. (4,6,6)

B. (4,7,7)

C.(7,4,7)

D. (4,7,7)

Answer: A

o Watch Video Solution

63. The circumradius of the triangle formed by the points (2,-1,1),(1,-3,-5) ,

(3,4,-4) is
1 _
A 5B

1
B. 5v/35


https://dl.doubtnut.com/l/_3j73aEDh3sO4
https://dl.doubtnut.com/l/_QmY38J2TDUGb
https://dl.doubtnut.com/l/_mOQX2AIg1waq

1

C. 5\/5

D. V41

Answer: C

° Watch Video Solution

64. The distance between the circumcentre and the orthocentre of the

triangle formed by (1,2,3),(3,-1,5),(4,0,-3) is
1
A. E\/1_7
1
B. —
5 /66

C.

O
o= N~

VT

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_mOQX2AIg1waq
https://dl.doubtnut.com/l/_Ype4X3NP0K4g
https://dl.doubtnut.com/l/_fqauIagmYvTH

65. The distance between the circumcentre and the orthocentre of the

triangle formed by the points (2,1, 5), (3, 2,3) and (4, 0, 4) is

C.3

D.O

Answer: D

o Watch Video Solution

66. If the points (3,2,-4) ,(5,4k),(9,8-10)are collinear then k =

A.6

B.3


https://dl.doubtnut.com/l/_fqauIagmYvTH
https://dl.doubtnut.com/l/_mfeGZMmdpvlh

Answer: C

° Watch Video Solution

67.If (k]1,5) ,(1,0,3),(7,-2,1) are collinear then ‘(k-1)=

D. (2,-1)

Answer: A

° Watch Video Solution

68. The locus of a point which is at a distance of 5 unit from (2,1,-3) is

Az +y? +22 422 +42+5=0


https://dl.doubtnut.com/l/_mfeGZMmdpvlh
https://dl.doubtnut.com/l/_KsPyCqTDgTzq
https://dl.doubtnut.com/l/_mGG3AbsiEgEs

B.a?+ ¢y +224+2c—42—-20=0
Cal4+y’+22 -2 —424+5=0

Dz’ 4y’ +22 —4de —2y+62—11=0

Answer: D

° Watch Video Solution

69. The locus of a point which is at a distance of 2 unit from yz - plane is

Az2—4=0
B.z2 — 25 =0
Cz2+15=0
D.z2—-15=0
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mGG3AbsiEgEs
https://dl.doubtnut.com/l/_brwLIJ9rQbY2
https://dl.doubtnut.com/l/_UyBbjmGh5vis

70. The locus of the point which is equidistant from xy plane and yz -
plane is
Ayt—22=0
B.22 —z2=0
2

C.azz—y =

D.z? + ¢y + 22 =0

Answer: B

o Watch Video Solution

71. The locus of point which is equidistant from the points (-2,2,3),(3,4,5) is

Al0z +4y+42—-33=0
B.10x — 5y + 2z =0
C10z —b5y—22=0

D.10x + 5y — 2z =0


https://dl.doubtnut.com/l/_UyBbjmGh5vis
https://dl.doubtnut.com/l/_iNK5piCuNVZf

Answer: A

° Watch Video Solution

72.The locus of a point for which the sum of the squares of the distances
from the coordinate planes is 5 unit is

Ax+y+z=4

B.x+y+z=2

Cal+yl+22=4

D. X2 +y"2 +2"2=5/2

Answer: D

° Watch Video Solution

73. The locus of a point P from which the distance to the point (1,1,1) is

double the distance from P to the yz - plane is


https://dl.doubtnut.com/l/_iNK5piCuNVZf
https://dl.doubtnut.com/l/_9CgXDvBS2ySc
https://dl.doubtnut.com/l/_iDNUi1bfZugR

A3x? -3y +2°—dz +6y—82+29=0
2 .2 2 _a _
B.3z" —y" —2"+2x +2y+22—-3=0
2 o2 2 A4 e e o0
C.3z 3y° + =z dr — 6y — 82 —29=0

D.3z2 — 3y’ + 22 + 4z + 6y + 82+ 39 =0

Answer: B

o Watch Video Solution

74. The locus of a point P from which the distance to the point (2,3,-1) is
trible the distance from P to the xy - plane is

Ax?+y?—82—4dr —6y+22+14=0

B.a?+ 3y — 22 — 4z —2y+82—-3=0

Ca?—3y 4+ 22 +42 —6y+82—29=0

D.z? +3y* + 22 + 4z + 6y + 82+ 29 = 0

Answer: A



https://dl.doubtnut.com/l/_iDNUi1bfZugR
https://dl.doubtnut.com/l/_6ukTFTtyTtrK

| o Watch Video Solution

75.The locus of a point P such that distances from P to the points (2,3,5),
(1,2,-1) are in the ratio 5: 2 is

A 21z? + 21y + 212% — 34z — T6y + 90z — 2 =0

B.212% — 21y% + 212% — 34z — 76y + 90z — 2 =10

C.212% + 21y% + 2122 — 34z + 76y + 902 +2 =0

D. 21z — 21y? — 212% — 34z — 76y + 90z — 2 =0

Answer: A

o Watch Video Solution

76. The locus of a point P such that 3PA = 2PB where A = (2,3,4) B=(-3,2,5) is

A5(z® +y* + +2°) + 34z + 8y — 54z + 70 = 0

B.o?+ 92 +22+ 342 —8y+54+70=0


https://dl.doubtnut.com/l/_6ukTFTtyTtrK
https://dl.doubtnut.com/l/_R5iCdrtLcBc0
https://dl.doubtnut.com/l/_5NPEQfX5CUFp

C.5(z* +y* + +2%) — 60z — 38y — 322+ 109 = 0

D.zTy? + 22+ 34z — 8y + 54z — 70 =0

Answer: C

° Watch Video Solution

77.The locus of the point if the join of the points ( — 4, 2, 3), (2, — 1, 5)
subtends a right angle at P is
A4y —22+22—y—82+5=0
Bz’ +y? — 224+ 2 —y—82—-5=0
Cel+y’+22+2x—y—82+5=0

Dz —y? — 22 -2z —y—82—-5=0

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_5NPEQfX5CUFp
https://dl.doubtnut.com/l/_MHU5Ceo004DQ
https://dl.doubtnut.com/l/_Hsjxebeyty0r

78. The ends of the hypotenuse of a right angled triangle are
(2,0, — 3), (0,4, 1) then the locus of the third vertex is
Azl 4+ +22— 2 —4y+22—-3=0
Bzl + ¢yl — 22 —2c+4y+224+3=0
C.m2—y2—zz—2m—4y+2z—320

D.z? + ¢+ 22 + 22 +4y+22+3=0

Answer: A

o Watch Video Solution

79. The locus of the point P such that PA + PB = 4 where
A=(2,3,4,B=(—-23,4)is

Ay 4+ 224+ 6y+82+25=0

B.y? — 224+ 6y+82—25=0

Cyl+22—6y—82+25=0


https://dl.doubtnut.com/l/_Hsjxebeyty0r
https://dl.doubtnut.com/l/_T8uae5B8LJbl

D.y> + 22 —6y—82—-25=0

Answer: C

° Watch Video Solution

80. The locus of point P such that PA - PB = 5 where
A=(32 —1),B=(3 —4,2)is

A. 25z — 11y + 1622 + 36yz — 150z — 40y + 20z + 325 = 0

B. 25z2 + 11y% — 1622 + 36yz — 150z — 40y + 20z + 325 = 0

C. 2522 — 11y? + 1622 + 36yz — 150z + 40y — 20z — 325 = 0

D. 252> + 11y? + 162% + 36yz — 150z + 40y + 20z + 325 = 0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_T8uae5B8LJbl
https://dl.doubtnut.com/l/_XtwhCZLGDJeV

81. The locus of the point P such that PA? + PB? = 10 where A=(2,3,4),
B=(2,3,4) is

Azl +y +2 -z +y—42+12=0

Bl +y?+22—bx+y—624+24=0

C.2(m2+y2+z2) —rz+y—42+12=0

Dz’ +yi+ 22—z —y—42—-12=0

Answer: B

o Watch Video Solution

82. The locus of the point P such that PA? + PB? = 2PC? where
A=(1,3,2),B=(2,4 —3),C=(—-2,1,3)is

Azl +yP+ 22—z +y—42+12=0

B.a’+ ¢y 4+ 22 —bx+y—62+20=0

C.2(a:2—|—y2—|—z2)—x+y—4z—|—12:O


https://dl.doubtnut.com/l/_w8tdrEilvdwM
https://dl.doubtnut.com/l/_IAgUAkQUzSHy

D.14z + 10y — 142 —15=0

Answer: D

° Watch Video Solution

83. The locus of the point (7 cos a cos 3, r cos asin B, r sin ) is

A.xz—y2—z2:r2

B.x2+y2+z2:r
2 2

C.m2+y2—z =r

D.xz—y2+z2:r

Answer: B

o Watch Video Solution

84.The locus of the point (2seca cos 3, 2secasin 3, 2tan ) is


https://dl.doubtnut.com/l/_IAgUAkQUzSHy
https://dl.doubtnut.com/l/_LSTVBK5eg2LP
https://dl.doubtnut.com/l/_IUs3wuIj279m

Azl4+y?—22=4
B.a’ +¢y>+ 22 =4
2 2

C.m2+y2—z =r

D.azz—y2—|—z2 = r?

Answer: A

o Watch Video Solution

85.The coordinates of the point (3,7,5) in the new system when the origin
is shiftedto ( — 1, — 1, — 1) is

A. (4,6,6)

B. (4,6,6)

C. (6,6,6)

D.(4,44)

Answer: A



https://dl.doubtnut.com/l/_IUs3wuIj279m
https://dl.doubtnut.com/l/_YbivuyQmtfvR

| o Watch Video Solution

86. The transformed equation of
22> + 3y® — 2% — 8z + 18y + 2z + 9 = 0 when the axes are translated
to the point (2,-3,1) is

A2X?+3Y?-Z%=25

B.2X? +3Y?+ 7% =25

C.2X?-3Y?-2Z? =25

D.2X2+3Y?% - Z2 =50

Answer: A

° Watch Video Solution

87. The point to which the axes should be translated to eliminate first

degree terms in the equation 2z% — 2y + 22 — 4z + 8y + 22 — 5 = 0is


https://dl.doubtnut.com/l/_YbivuyQmtfvR
https://dl.doubtnut.com/l/_AG4TC2x84uPQ
https://dl.doubtnut.com/l/_migxN7OwkoaR

A. (1,2)0)

B. (1,2,-1)

C.(-1,2,)

D. (1,-2,1)

Answer: B

° Watch Video Solution

Exercise 2 Special Type Questions Set 1

1.1: The points (-2,3,5), (1,,2,3 ),(7,0,-1) are collinear.

Il: The points (2 ,-11) (1-3-5), (3,-4,-4 ) form an equilateral triangle.
A.onlylis true
B.only Ilis true
C.both I and Il are true

D. neither | nor Il are true


https://dl.doubtnut.com/l/_migxN7OwkoaR
https://dl.doubtnut.com/l/_0PlnuP9ovFv9

Answer: A

° Watch Video Solution

2. I: The ratio in which xy-plane divides the line segment joining (3,-2,2 ),
(6,174 ) is 1: 4 externally
T Il : The ratio in which xy-plane divides the line segment joining (2,4,5 ),

(3,5,4)is 5: 4

° Watch Video Solution

3.A(3,4,5)B(2,3,1),C(-1,6,1 ) are the vertices of a triangle then
I: The circumcenter of triangle ABC is (1,5,3 )

II: the orthocenter of triangle ABC is (2,3,1)

° View Text Solution

Exercise 2 Special Type Questions Set 2


https://dl.doubtnut.com/l/_0PlnuP9ovFv9
https://dl.doubtnut.com/l/_BkNiqvZK8jvK
https://dl.doubtnut.com/l/_an73tFepOHTt

1. The descending order of the distances between the points

A) (0,0,0), (cos, sin J1) B) (1,2,3) , (-1,2,3) C) (0,0,0) , (3,4,0) D) (1,2,3),(2,3,1)

A.AB,CD

B.C,D,B,A

C.CB,DA

D.B,C,DA

Answer: B

o Watch Video Solution

2.In AABC, A(4,5,6), B(3,2,1), C(5,4,3). If p,q,r are lengths of the medians

through AB,C then increasing order of p,q, r is

A.p,q,r

B. q,p,r

C.rpg


https://dl.doubtnut.com/l/_Z1KEuYyXqUQE
https://dl.doubtnut.com/l/_DtwL8CJvZCjG

D.rq.,p

Answer: B

° Watch Video Solution

3. A(0,2,3), B(2,-1,5),C(3,0, -3) are vertices of AABC. If a,b,c are HG, GS, SH
then their increasing order is (H,G, S are orthocentre, centroid and
circumcentre)

A.ab,c

B.cb,a

C.bac

D. b,c,a

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DtwL8CJvZCjG
https://dl.doubtnut.com/l/_3IyVafDxnRKs

Exercise 2 Special Type Questions Set 3

1. Match the following
L The distance of the point (7,-8,15) from the x - axisis  a) 5

II.  The distance of the point (-5,2,12) from the y - axisis  b) 13
III. The distance of the point (3,-4,5) from the z - axis is c) 17
A b,ca
B.c,a,b

C.c,b,a

D.a,b,c

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Rw5hmsf7nYdw

2. Match the following

Given points Triangle formed
1. (1,2,3),(2,3,1),(3,1,2) a) equilateral triangle
(0,7,10),(-1,6,6),(-4,9,6) Db) isosceles triangle
. (1,1,1),(1,2,3),(2,-1,1)  c) right angled triangle
. (1,2,3),(3,-1,5),(4,0,-3) d) right angled isosceles triangle
A.d,a,b,a
B.a,b,c,d

C.d,c,b,a

D.a,d,b,c

Answer: D

o Watch Video Solution

3. Match the following

1. The points (3,2,1),(5,6,5),(2,1,2),(0,-3,-2) form  a) square

II.  The points (1,2,2),(2,-1,0),(1,1,3),(0,4,5)form  b) rectangle
III. The points (1,2,4),(-2,2,1),(2,4,-3),(5,4,0) form c¢) rhombus

1v. The points (-2,4,1),(-1,5,5),(2,2,5),(1,1,1)form d) parallelogram


https://dl.doubtnut.com/l/_vTDFQ8XNylia
https://dl.doubtnut.com/l/_tEOcQgdluFzo

A.d,a,bc

B.a,b,c,d

C.d,c,b,a

D.a,c,d,b

Answer: C

o Watch Video Solution

4. Match the following

I. Centroid of the triangle formed by (2,3,-1),(5,6,3),(2,-3,1)
II.  Circumcentre of the triangle formed by (1,2,3),(2,3,1),(3,1,2)
ITI. Orthocentre of the triangle formed by (2,1,5),(3,2,3),(4,0,4)
IV. Incentre of the triangle formed by (0,0,0),(3,0,0),(0,4,0)
A.d,a,bc
B.a,b,cd

C.dcb,a

D.a,c,d,b


https://dl.doubtnut.com/l/_tEOcQgdluFzo
https://dl.doubtnut.com/l/_Zm3nLVO29Q7b

Answer: C

° View Text Solution

Exercise 2 Special Type Questions Set 4

1. A: The distance of the (1,2,3) from the coordinate axes are

V13, /10, /5

R : The distance of P (xyz) from the coordinate are

A.both A and R are true and R is the correct explanation of A
B. both A and R are true but R is not the correct explanation of A
C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Zm3nLVO29Q7b
https://dl.doubtnut.com/l/_dSBUxSWOebHW

2. A If (2,1, —3),(—2,3,4),(1,2,2) are the midpoints of
BC,CA, ABof AABCthen A = ( — 3,4, 9)

R :If (aI)IB1771)7 (a2aﬁ2a72)a (a3aﬁ3a73) are the mideints of the

sides BC,CA, AB of AABC then
A=(agt+as—a,Be+Bs— B, 72+ — M)
A.both A and R are true and R is the correct explanation of A
B.both A and R are true but R is not the correct explanation of A
C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution

3. Assertion (A) : P(3,5,4), Q(6,5,7) are the vertice of a triangle whose

orthocentre is (5,7,5)


https://dl.doubtnut.com/l/_dSBUxSWOebHW
https://dl.doubtnut.com/l/_ZvyY8V79SyNC
https://dl.doubtnut.com/l/_pNWq7S6f04kh

Reason ( R): In aright angled triangle right vertex is orthocentre

A.both A and R are true and R is the correct explanation of A

B. both A and R are true but R is not the correct explanation of A

C.Ais true but R is false

D. Ais false but R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pNWq7S6f04kh

